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QUESTION 1

In a single-node system network; all IP phones are registered with the same U1900. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

An enterprise requires high system reliability, so servers, for example, eServer, must be deployed in two-node cluster or
load-balance cluster mode. In this scenario, the servers can be deployed in the Windows operating system of standard
edition. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 3

In the AR, the major function of the CCM module is to trace interaction messages between internal modules to locate
the phase when call failure occurs. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

About SBC networking, which of the following statements is INCORRECT? 

A. An SBC supports IP-based communication between the carrier networks and voice access devices, and between the
headquarters and branches of an enterprise. 

B. An SBC processes and controls data streams between IP networks in real time to support VoIP service
implementation. 

C. Generally, firewalls can convert only Layer 3 and Layer 4 headers. For UC applications such as SIP and H.323, the
IP addresses required for exchanging signaling and media streams are contained in the packet payload; therefore,
firewalls cannot perform NAT for private IP addresses at the application layer. 

D. On the terminal, the SIP server address configured is the SBC address. The SBC functions as the signaling proxy,
and media streams do not pass through the SBC. 
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Correct Answer: D 

 

QUESTION 5

A communication error suddenly occurs in an enterprise. It is found that the database log file is too large, which results
in insufficient disk space and data write exceptions. Which of the following statements is INCORRECT? 

A. Periodically delete the log file. 

B. Periodically back up the database file. 

C. The log file needs to be periodically deleted and does not need to be periodically backed up. 

Correct Answer: C 
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